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403 UHXSHHSA=0l& 86,000 24,500 61,500
3obHzZs&EXINEEL 86,000 24,500 61,500
Ol zZzedd RAE=x 5,000
-flHlz2Ead & &l 5,000
oudlzedd 23 +¢ 81,000
eI =EH 2,700,000& *30CH 81,000
2R QA &2 28,540 28,540 0
301 et A3z 28,540 28,540 0
09 SUZLRIBHS 28,540 28,540 0
o322 20 22,800
- 33 97,5003 *8H x 12 & 9,360
- S4ltl 5,000 «8H 20 « 1200 & 9,600
- wEHl 2,000 «8H 20 121 = 3,840
OZ9d2fe & I=4| 60,0003 x2&H +23] 240
O3UZFLA Mol2a= 5,500
-S4 X =4l 1,500
“AHRE A F 2,000
U BN = 2,000
ALl 249 134,830 175,740 240,910
301 et a = 111,830 106,740 5,090
04 2L HUIA2SH 111,830 106,740 5,090
olseddy 2¢ 111,830
- OFalH] 3,500 x4 P «365L x 13 S S 66,430
- NHERFUH 150,000 x 124 S 134 S H 23,400
- U HEsgd X2 1,000, 000 «8IH CH 8,000
-NEYHH HSEME 7Y
20,000& 700 14,000
402 RI2EA=20| A 23,000 69,000 A 46,000
01 RIZEAI2E X 23,000 69,000 A 46,000
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